FIE)  y=072x ~|bx + 42 :

y=062(x* _8x) @
Y= 02 (x%=8x Hio— |@+%2 ,_\l/

=02(x—4)" -32+42 b

.
=020y | ﬁzg— 1.0

(b)) T




5. by Factoring Solve =4

Recall: Equations in Factored Form lﬁ G ( >< - )(x 5}

Where are the zeros/ x-intercepts?
. y=0, — [Zi} Yems]

] l

v;
Equation <j§=(x—4ﬂx+2) GD=X(X—5) y=(x+3)p
2edos "Roots X=Y, X=-2Z X=0 X=5 X=-3
Ans el
< — - e e
N

Sketch




Recall:

The zeros/x-intercepts/roots are the the
function, \ _
. =0
Ifa.b=0,eithera=0o0rb=0.
Where are the zeros for the following?
O O 0O
y=42§i}ﬂ3x—%£) y =x(5x-2) y=(2x + 77
\ \
Dt @3 Y :
X+ (= X-2=0
2x=2l  3x=2 (g -3 .
= 3 =2 I+ =0
<=\ | ez 5 3 20 =7
5 X = — 1
- y 2— -~
oY / \ o / \ [ :
\FF / 5 \ / ;
6 A \ | S
4 / 3 4
\ : \l |/ i
> \ / -
@! A X \\1£ g// . / '
R -1 1 —
);_L F=lok ! 5 4 B 2

I o] L



Finding the zeros of
is the same as
solving the equation

y =ax? + bx +c

l

6=ax2+bx+c

INEs]

—

To Solve a Quadratic Equation

e write inthe formaX + bx+c=
e fully factor

e determine the value of x that makes each factor
equal to zero

/Y=o

Ex. {Solve. ) ==
a) (x-5)(2x+3)=0 b) x(3x-5)
/ \V ”/ R 3x-5=0
X=S=0  2%313=0 :
{E 2x =-3 /3}15
= = 5 2
-3
3
) x2+4x-5=0 M- =5 d) x-7x+12=0
A4
(x3 8)(x-D=0 N (3= 3N x-4)=0

e) 2x2+5x-3=0 M- f) 10x2+19x+6=0 M 60
(x+3(2x-D) =0 ﬁ 5 (2x+3(5x+ D=0 A
VAN | _— ‘B Y
i e = I Jox
=) 5 4
R & 4
B = 2



Ex. 2 Solve.

a) 3y?+15y+18=0
3(y*+ Syt O=0
3( y+ DHCy+2> =0

b) 2x2-8x=0
V(%= =0
/

y
=e] =47

d -m+7m-10=0
—(mzf7m y16) =0
—(rn=D(~-TY=O
Mm=5 m==

A

f)  w2+4=3ww-5)

\_>> L,>>
O =30 —W —lSw-

0 =2w*-Bw-4
U Aocend Aattor .
Caml\ Sol\){ Jg\j

Woad”or\mﬁ ~



Ex. 3 Write a quadratic equation having roots:

No fvactions
a) 3,-2 b) %)% -

&: (gx—%)(?x + DJ
g (x2Yx*3)

Bjﬁ(zx—éﬁ(%*@ 4 (%z:(%%

gﬁff;(xz§( K42 mi
tx =
AV, S’\_OQGO’\O\(J\ ’Q}t/\(\/\
Y= XY 2x=3K—(

& complett e T\
pectex form (_f\y—
& 2,

Y= X
= (x*~x )= 6

bla I bl

Ux-3 =0

\



Ex. 4 A ballis thrown from a cliff. Its height, h, in metres, above the sea,
after t seconds, can be modelled by the equation h =-5t* + 21t

How long will the ball take to fal| 20 m below its initial height?

RO ﬁ,\ |
N1 A
\/r\/

h=—5t%421L 4 100
00 = =52 + 21+ + 120
<olue — @ac%@r

0 =—5t"Riet+no-i00
D=-t"+2 & 120

YRE=Ce% O =5t -2+ —20

- 0={-5)5t 4y

=25 / \

% 5 [£=5)

T udmz=0E<
5 S T Aokes |
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